2

Y& Hftprret

(Whole Numbers)

o Yfeza Aftmi=r 3 ygs A=t 39 (yafes) femerfag Afvmm-y=st & e
BEr |

o YIE Hitmrer & Afewr 3ur 3 gawer w3 Afewr dur ‘T @y F9ET

« Yds Afenret Tt fermaret § mEaT)

o T Himret 3 farfest aus mige 3t

2.1 A€ Ug'€ (Introduction)

wHT ufost Ot yfgza e se ug 99 oF, 92 1, 2, 3,4, 5 e few =97
farest & yfgza Aftmret (N) faor 7rer 71 7 &1 aws S99 oat fefenrast Vige o6 »3
afg ae? IUTET ATy gear awl fefewradt aure 9 Hae =t 41 few nfgst fee wit afow
ot fa free (“0”) fefenredt w3 fEe Hge J1

foreat 7 wfgsa Afer=t 72 1, 2, 3,4, 5......... & Hfenr ‘0’ &% feds & ues
A=t wiee 95|

ygs Afipret W a8 SarATehdt JiEmdt 75 |

ferag-W=1(0.1,23,4,56,7,8 ...... )

2.2, Yfg3a Aftmie w3 yas Aftmret i g

(Relation between Natural Numbers and
Whole Numbers)

N={l1,234,567809, 10,11 ... } ( Aftpret
— y £ ﬂ 1121 3| l'I'r 5! ﬁ!
W=1{0,1,2,3,4567,89,10,11, ....... | ek s o

yas Aftr=t © feds &9 adbwt yigsa Afumr=t
" 95|
« FEtHt yfasa Aftprr=t yas Afimrsr 95|
o AP UaE Afeeret yrfgse ffanret 59t 95|
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(fa€fer ‘o’ fea ygws Aftpwr T uw yigza Aftr a4t 3
o F T & yfagza ffimm 1 3
. Hﬂ'iéﬂ‘;‘!ﬂﬁﬁw{}al
« A3 T T yfagza Afumr fendt 5391 7 maet fatfa fan yigza fifuer e 1 935
&% ot @7 F 3t wigsea Afe yruz g9e ot
o A3 F TFT UTS Al YU FOT S13T A Aeel fag e faw s fivr 9 1 795
&% wHT §F 3 5T Afew yruz 9% Tf
2.3 fEq yas Aftrd™ & Marse i3 U839 (Successor and Predecessor
ol a Whole Number)
WArgE (Successor) : e yas fifter o widize Br 68 1 A3 & yruz it A der G
mAcdfgo e mdiag 13, 1 T widisd 2 7, 2 7 onidisd 3 o mig fem 39t
9 YIS Ay @ wEiFd ger J|
EFd (Predecessor) : f8a yas Afmm o fug3e €31 Hitm 578" 1 uie ge I Auwe
d2e fugse 1 3, 1 v fugze o 3, us yIs A=t &g 0 & aet =t fugze adt de
‘0’ F femrer 939 yds Afwnr T fugse der 71
Gowaw 1. wEEe B

(a) 40099 (h)y 1000
% (a) 40099 € wdi3d = 40099 + 1
= 40100
(b) 1000 TT WaI=ZT = 1000 + |
= 1001
Gvwes 2. fussq faE;
(a) 10000 (h) 20099
5 (a) 10000 @ fugzgd = 10000-1
= 9999
by 20099 o fuggd = 20099- |
= 20098

2.4 YIS A=t & Aftpy 3uT '3 €9A8ET (Representation of Whole
Numbers on Number Line)

féq oy fug | fern @3 féa fag 8T 1 fer & ‘0’ =v a1 fe 1 0 € AW U fég Je g 36|
Gr & 1o aw el o w3 1 € os Tane fegt o € fesarast odt & fearet get afde
TEIfeR s I 1S AT UA w3 1 3 feger wdt '3 fdq 99 fiw &6 »=3 2 = a7 el
few fedt & =93 aov T2, Aftr Jur €3 g feadt Y gt S et §3,4,5 .
&% & fe&)

| | i 1 i | i | Y
. T | T T T T 1 T -

0 1 2 3 4 5 6 7
AT A uR far &t ugs Afasr 39 fon 291 &8 A7 Aae T feg yes Aftmret sdt
AT Jur T
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yas A=t & Qudas Afimr dur <8 Sufenft »Ht 249 o fa

(a) fA=T (‘'0’) € ¥¥ UH J€ Yya& Afted™ &0T J w3 fA=e (‘0°) € AF U'H 399 Y95
At fee (‘o)) 3 <31 91

m) fa ugs Afwsr faost fa E9 ugs Afimr & 99 uw Afeg ot 9, 9 yas
At w78 <51 g9t 71 A= fa 553, 76 w3 for 39t wiar <

(© g ygs Ao fAogt fa 5T yas A & 95 A Afgz 3t 9, €5t uyes
At 3 88 3t 31 fa= fa 23, 57 wiZ fon 397 nigr &

At Fur § wa< gu (Feadt gu) B9 &1 fdfewr ar raer 91

2.4.1 At U™ 'F USs Aftmi=T @ §F (Addition of Whole Numbers on

number line)
fear Afgmr Fur 'F T yaw A=t § A96 O ot 3t €3 wer & urseT gee ot-
fea A 9y fS w2 fow €32 yos Afimrst wifga a9
ufast &gt Afimr & ffier 3w 2 wifag =9
ufawt Aitmi™ € 7 UH gt Aftpr € sarae fegmet 98 |
uar 3 &9 yruz dftmr @ yes Afiret o 73 sanr@et 9
. few 39, 3w, 979 w3 Uv yos Aftmiet =7 #3 afeur 7 Aaer J1
Geums 3 3+5 & Afvwr @y T @R
aF - wift fea Afwor qur fifee o7 w2 0 T AT UW 28 3 geW 7 O »F for fie
& ABH TINET T gF A T WY agfen’, wHT 5 geH iH 28 98T 7 v
‘B T Udae T7|
L T e e

el .l ! r"*‘ﬁ""_’"‘““’"*"“"’”*'"""ﬂ'"‘ﬂ ! | J. |

o 1 2 3 4 5 6 7 8 9 10 1 12
OA=3AB=50B=8
fer €T, 0B=3+5=8
2.4 .2 féa Aftpyr Sy °3 yas Aftmret & we'@ (Subtraction of Whole Num-
bers on a number line)
féfer #feprr Sum 3 féa yaw A § o Wes Afenr &8 weBe wet I8t 3 war
o uger gt At &
1. fég Afipar Sur ffe »3 fow €3 yes Afimrst wifas 39
2, ufast fo5t Aftpr & Afiprr 3y Inifag a9
3. ufost Afwr 3 §g Fefet ufast Afipsr & 45 UR oAt Aftsr © savse fearet 95|
4. yar 3 €9 yuz Afir, fftor ayr '3 83 o yos Afimret €@ S8 wizg &
waget I
4 Hftpwr U T 6-4 § TIRE
- wHT fea Aftprr 3y e 77
fig 0 (fA=d) 3 5Y Fafont, »iHt 6 doH A 8 7Y 07 w3 A '3 ud9 A%
I7| g A I HY d9¢ IF MAT A € UY UH 4 gOH AT 97 WF B T udee O

(0 I A N S

ot

5
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OA =6, AB=4
AUAE I T OB=6-4=2
2.4.3 Al Iy 'F YIs A=t & @@ (Product of Whole Numbers on a
number line)
fear Aftpr Gur ‘T € uss Aftmrre’ & e a9s e Jot €3 uar & use at=t A O
1. T&a fAfipyr 3y 749 w3 few T uas Aftprer wifgz a9
2. 03 gg gafout wift 0 ¥ FF UN 98T AT It w3 gt Afwsr wigare fise ot wF
ﬁﬂﬁfgﬁ“ &% (Jump) Hawe 7|
3. g yfast Afgwr wizws @5t evat sar@e af w2 a3 T udee Th
4. wiits f&g yruz, Afemr €0 @ yas Aivwrer € greses § wemget T
Gewas 5 Al 3y €1 293 aefent 3x4 87|
75 wit e At qur fdee of

G//‘:—\H 4 B 4 c

o 1 2 3 4 5 6 7 8 8 10 1 12 13
‘0’ ¥ Hg F9T TF wHT ‘A T uges st ‘0’ feaet € AR UH 4 fearetnlt niar
a2 ot ol A &7 HY 3T TTET € wifadtet mos IRt 99 9nE OF (99
wfae g g% 3 9787 w3 wiF 99 °C’ I ugee 77 7 fa 12 § sewger 91
fem s¢t, 3x4=12
2.4.4 Afgm Iy °F €F (Division on a number line)
e Aftpy 9y 3 ¥ UTs AT § €3 a9a e wAT JoT fo g gHET Uari o UsST adidr|
1. feq ffimr sy 8 w3 few '3 yaw Afumr=r »ifas a9
2. 03 gg safext »irl 0 € AF uH ufest iftmr 3 udee 7f)
3. g ufost Afewr 3 0 T8 UH At Afeer € 59T &% BargE Tf
4. 0 3a yduT BE SIrehdt aretet 27T of fare gt g € sovEg J1
Bowas 6 Al JuT T 12+3 BT
% fear fifipr 3yr 57 |

W

wHT ‘A’ 3 udee ®et ‘0" 3 §Y dafentt 12 feadn § ‘0° € A €5 da0
TIT AT 3 fEaeh™ § AT YUY 5 8 § 78 7€ 3 #H 07 'F ot g
A, »iHl Sue gt fa 88 4 ast a5
fer®dt 12+3=4
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WGP [ 2.1

(€) yIs Aftwret €9 ‘0° @7 warsT oy

(d) uIs AT f&9 ‘0" o fu=39 fay|

(¢) w¥ T =T wIs ffipr foir

. % fefipyt (9 fau2 ags Adt (T) w2 foud 9153 (F) 957

(a) frme g 3 &2 yfgza afger 3

(b) fres rg 3 &<t yos Afir T

(c) T9a yas A feq yigsa Afwr T

@) e yfgza ffienr fea yas Afier 91

(e) fe€a (1) Ag T &7 ugs Aiwmr T

6 yfasa Afwret f&9 yigfaa Aftwr 1 & §8F fugze a4t de
(@ Yyds Aftmiret &9 yas Afierr 1 = 3t fugge &dt gor

(hy @ »ar = A T ST Aftedr T wET=e, 38 wigt O 247 T £ After e T
@ € wat & After T wEEe aiE € oigt & Afanr 39t T

G) 299 = fug39 300 I

(k) 499 VT WITIT 500 T

0 & ofat & ffterr w7 fugze ae &t fda ofg < ffierr &0t dor)
. U5 fefont f€9 gda @ »@i39 (Successor) &4 |

@ 100909 (b) 4630999
(€ 830001 (d) 99999
. Jo el f€9 gda v U839 (Predecessor) &4 |
(a) 1000 (b) 208090
(© 7654321 d) 12576

. Tt b A & o SuT T wew g |
0 T . T I e
. 22 W 43 € fegaw fastw™ yas Afumr=t o857

7. do fefint &9 oo & wonGe =&t Aftenm our S|

(ay 3+2 d) 4+5 () 642
(d) &-3 (&) 7-4  7-2
&



(8) 3Ix3 (h)y 2x5 @ 3Ix5

» 9=+3 (k) 12+4 M 10=2
8. <A > gae 95t 7% vEt e 99—
EY R S 205 M) 170 ... 107
€ 415 ... 514 (d) 10001 ........ 9999
(€) 2300014 ...... 2300041 f) 99999 ......... 888888
2.5 Y& Hithi=t & gie (Properties of Whole Numbers)

wit ufgst @t ffunrst € f7, weo€, e w2 23, w9 ¥ fafonret ag iy 99 oF
Wi g= Wit fegt fafenrer Shat femmaret v yes Aftprrer ‘T wieds adie |
= & @& (Closure Property)
v A7 : UTs AP 53 © widls 9€ 39T 9|
fa@fa »ft mrew of fa € ygs #fwwr=t o 93 < ffa yas Afeuwr 3t 91
Gegas =4 7+5=12 féa yas Aftpr 91
5+6=11 f&a ygs Afiprr J1
0+4=4 foq yas Al T
fow ®&t | ygs Afp + Uas AT - U9s Aftprr
» FET - UgE it gET & wuis < ¥e gatit aF | falfa »ilt Arew ot fa €
ygs Afimret € greT < o yos Afwer g8t 91
SvI9s T Tx3=21 f&a yas wAfunr I
4x6=24 g yas Afwnr I
0x3=0 fda ygs wftpar T
fewr ®et | uas Afwwr < uss At = ugs Al
o W2E:- Ugs At we € wigears Tv &4t $9iT) faBfa € ues Afaret &
w2 oie féa uss Aftprr =91 Jet)
Geroes =A 7-9=-2 & yas Afemr a0T T
3-7=-4 féq ygs Afemr sT T
7-4=3 &g ya& ffwwr 9
o =F:- Y5 Aftpwr=t grar € wigears 9T adt 95t | faSfe € yas Afumr=t & gmar

T fee yes Afterr 0T Jet)

Gorges = §+4=2 fog yas ffiprr 3

uT 5+7=§ feer yas Al s T
5+5=g fea yga Aftpur a1 T
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fAee & 37T (Division by Zero)
feq fftwr &% Far ¥ v wEw 7 fa G0 After & sarse wegeT)
Wg 8+2 UIT FdiE|

® g 2 ¢ g fov 2 & =9 T9 WG|
-2 -2 -2 2 4 Y=t ETE HHT ‘0 T Udw a7 |
6 4 2 0 B+2=4
fermatg+2=4
g g 2 + 0 ¥ Iffw &
2 2 2 2 _
g9 =9 g g 2 fuser §
= = at feg 7€ gaam
2 2 2 3 &dt
. fom w2 - 0 ufsees =7 T wHT Ffoe 97 2 + 0 ufeg g &1 J1

&7 - fHeg &% Frar ufgaas &9t 71

— FH-Swdr g€ (Commutative Property)
o AT YIS ARp=T © §F € WiJ0d13 Ages IR gH SeiedT J | IHT € Uas Afidret
far St fSadsmeedIfMEfd a+b=b+a
Gees = 4+6=10=6+4
3+8=11=8+3

w5 |0000-000000=-10-000000:0000
T | 900+00000000-11 -00000000 000

o PET- YT Aftp=t & g7 © #3093 IEaes aNET gH =¢iee O 3Ht ¥ yEs
At Ffar g ffogerarmae TS fd axb=bxa
Govaas =7 4x5=20=5x4
3Ix6=18=6x3
o W ygs A=t & wer gy geiver 50 T weE € vnd e, 7 ot ues
Aftre & @W § sewe 97, a3 fEa faar gt der,a-beb-a(fm@am3 b
yas A=t 95)
Geues =5 10-3=7
3-10=7
o 3 foF 39T, yogo nftmret S5 971 gy S<iver adt 3|
Googs =F 12+4=3
ud 4+ 1223
a+b#h+a(am b e I Ugs A= 05, a0, b=0)
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= AfgT93T g (Associativity Property)
« A9:- YFs Ahparet w57 Afoee T Y98 Afprrer st AfoeesT (Rfowa T 7 a,
b, ¢ f3& yaa fftmret 95 2 (a+b) +c=a + (b +¢)

Bemaas =7 2+3)+4 = 5+4=9

e 2+(+4) = 2+47=9

= 2+3)+4 = 2+(3+4)
qeE 00+000 | _ 90+
EiEk + 0000 000 0000

o GEEES Yas Aftmi=t & e Afome 917 a, b, ¢ f35 yos Aftmr=t 98 39 (ax

bixec =ax(bxc)

Geges =7 2x3) x4 = 6x4=24
2x(B3x4)= 2x12=24
fomr ==t 2x3)x 4= 2x(3x4)

o WG wF 797 (Subtraction and Division ): Y& Rt o7 were w3 €3 Afoge =df
5| H a, b, ¢, 35 ya& Afimi=t o5, 3t
(a-b)-c #a-(b-c)
e (a+h)+c #a+(b+c)
= IIAHA €T d« (Existence of Identity)
* AFEHAE FIANT (Additive Identity)
Had a dEl Uas Aftmr 92, 7
a+0=a=0+a
od mEet f&9, 7 fan < ugs Aftw w3 fase & 7z €91 ugs Afimr dur T 3°
yda Afesr ‘0’ (fRee) & Aeevg 33 faar Afer |
* FE3HE IIAHF (Multiplicative Identity)
axl=a=1xa
or mEet {29, 7 fan & yas Afedr w3 1 e aeaes Gt yew Afunr ger § 37
yda Aftmr ‘1’ & gremsHa I3Ana faar Afer J)
- ygs Afirst St wer€ wiF Tar a =eied ge € gae & dT a9s, feust
fafeurst & Iz 547 9F|

73 Qug grer e Esaat e
Distributive Property of Multiplication over Addition

# a, b, ¢ fF5 Ugs AfanreT o5
ST (i)ax(b+c)=axb+axc (i)(b+c)xa=bxa+cxa
v meT f&9 s Afunr o g Gost © Az €3 Sadt O O
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Verification (Ug37%) : fer ar & usa® ®er wHl aet 3% ugs Afprer a, b, ¢ € T
W3 J&T TIHE aE AT ax (b+c) 3 a xb + ax ¢ T HS BIE T

yas Hitmr=t femivar feniva G
a, b, ¢ ax (b+¢) axb + axc ax (b+c) = axh+axc T7?
%35 2x(3+5)=2x8 =16 2x3+2%5 ar
=06 +10
=16
3, 7. 15 Ix(7+15)=3x22=66 | 37+ 3% 15 ar
=21 +45=066
0,4.9 Ox(4+9)y =0x 13=0 Ox4+0x9 ar
=0+0
=)
AT dye It fa feniae a x (b+c) W axb + ax ¢ 99 89 a7 &9 sow9 05|
wzg Gue grer o E3aEl gE

(Distributive Property of Multiplication over Subtraction

yas A=t T geaen Gunt S ue S € S ESsmd i TieH maer R Ha

b, ¢, U35 Aftpr=t 05 fRE fa b > ¢, IT

i axb-¢c)=axb-axc
i) (b-c)xa=bxa-cxa

Gowes 7: wAS g &% dieaes UST ad |

w

(a) 25 x4 x 384 (h) 25 x 9 x 40 x 22637

as (a) 25 x4 x384 = (25%4) x 384 = 100 x 384 = 33400

(b) 25x9 x40 x 25637 = (25 x 40) x (9 x 25637)
= 1000 x 230733
= 230733000

Gemes 8 gae g IS¢ I¥ YIS HiH=T ©F IEses uIr aa |

(a) 187 x 107 ) 42 x 96

(a) 187 x 107 = I87 = (100+7 = F
) " ) ‘ 7= §ug gre = =3t
= 187 x 100 + 187 % 7
a=
= |E700 + 1309
= 20000
(b) 42x96 =42 x (100-4)
=42x 100 -42x4 we'g Gy gier e FFamdr
= 4200 — 168 =
— 4032
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Gvass 9

O]

Gvwes 10

@_?Ta"a?; 1

d5 -

greT @ EFadt gE 293¢ IF MW a9

(a) 15x32+15x68 () 125 x215-125x 15

(1) 1532+ 15 % 68= 15 x (32 + 68) g ———
= 15x 160 _@Eéag%ﬁm
= 1500

by 125%x215-125% 15
=125 % (215-15) | | “IE”@T.?‘HELIE"'E'Q'&"ET
= 125 % 200 ‘ d[& =93¢ 98|
= 25000 :

4567 § 2354 ©Wa A% €3 (Fwn) (Hdt =7 yfafewr) at €5 wT gar
wEaitgay (Algorithm) &% 779 9
234 )4567( 19
-2341
2227
~-2106
121

feg 3™ (Dividend) = 4567, 79 (Divisor) = 234
FEE®  (Quotient) = 19, §7&T (Remainder) = 121

WY (UFI) . I Hedifead It

FH = THd x TIEH + Tar

4567 = (234 x 19) + 121
A 4567 = 4446 + 121
At 4567 = 4567
feT We 1
fem &€, v At T

. 13 &% Fa7 3 Tt 99 »igh @ €51 3 391 At faost @7

=t T <5t w9 oat & e = 9999
g fer & 13 &% 391 aaie |

]35'}999 t?ﬁ@

91 |

" 89
<48

119
—117

2
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L]

14,

9999 & 13 378 791 K95 3 WHT F&T 2 YTyF ga€ I I AT 9999 fEE 2
& wergw ot 37 fa &St Aftmr § 13 &% yer yor <fawr 7 "4
few ®eT, 9999-2 - 9997 9 »igt o 23T F 31 Afew T 7 13 T® =T

T 71
L A AR

. gge @H &% UL ¥ 95 UIT g4

(@) 837 + 208 + 363 (b) 1962 + 453 + 1538 + 647
. BT aH &% UST o7 1S5S UST a9 |

(a) 2 x 1497 x 50 (b} 4 x 263 x 25

(c) 8x163x125 (d) 963 x 16 x 25

(e) 5x171 x60 ) 125x40x8 x 25

(8 3092] x25x40%x2 () 4x2x1932x125

@ 5462 % 25x4x2

d& fefiprt €9 oda o =974t @I« (Distibutive Property) &% H& UST a4 |
(a) {649x8) + (649x2) (by (6524 x 69) + (6524 x 31)

()  (2086%35)+(2986x65) (d) (6001 x 172) - (6001 x72)

. 35 fafiput & Us uzT ad|

() 493 x8+493x2 (b 24579 x 93 + 7 x 24579
() 3845 x5x782+ 769 x25% 218
(d) 3297 x 999 + 3297

. goe gieT € 293 5% gF5es UST a4

(@) 738 x 103 (b) 834 x 102 (c} 258 = 1008
(d) 736 x 93 (e) 816 x 745 () 2032 x 613
faw eart sodies & wWrust aist o Uedw oot @9 e § 40 feee Ueaw
ga=ronT | war® fox, Bra &8 959 so feeg et geofow| fag Ugds or e
278 ust feeq 92 37 @3 Uedw €3 o5 fdar wew &izm?

. féa du=rer (), f¥a Je5 & A=V 32 feev Eu féer T wiz wH & o8 fgeo gu feer

d| Heg €0 0E T35 USt feew @ 3 €0 8 § o9 §9 féat ot fumet 37

. AT ArEe I fq 0x0-0 | & #AT ST TT Ya& ARPAT I § TS WY 7% g7 92

2 gIEEew & AT © gavde g9 feet 1 Afvmr 851

y& grat gd—

(@) 150 = . b)) 1540 = .vrriiirnns
el 150 = s M 1540 = s
ey D218 = s B B+13 = cooccsiis
(@ 0+15 = e thy IS T = e
B 15+1 = e @ 11 = e

ygs A=t o greses fiee 4, InT &t fier dB¢ 37 @vwes © &8 mE&|
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11. d& fafodt o fisme &9 -

@ 537 x 106 =537 x 100 + 537 x 6

(@ 4 %47 x25=4x25x47

@ 70+ 1923 +30="70 + 30 + 1923

(a) FET wUllEs gH Sched
(b) 7= wlE gy =2iear
© 73 €7 = o TFadt

2.6 Ya& Aipret f€e 54& (Patterns in Whole Numbers)

fem gvar =9 Wt fiew &% st Heshit wrfgdiwt A= aur, wrfes, =9, f3g7
nirfe 9 Afwret & 3oty 90 aus & faw gaidr | goa A § feast nrfgah (29 faw
& foq wrfa st €9 gefenwr 7 aaer 31

2.6.1 3y U3t gt yas Aftmret § @9Rg@ (Representing Whole Numbers

by line segments)

H . 15T U, 3 2,3,4,5 ... TS ST T 54 ST 575 TIHE 7T A 5 |

AftpHT 2 e——a & J7 T wowfenr fapar T
i 3 e & 393 aEen fapir 3
Afgr 4——+—=—— & J7 I wanrtew fapyr T

e

2.6.2 f3gware Aftpret (Triangular Numbers)

frgt yas Afimret & fzgat ewrer ganten & AgeT 3, wfvat Afawret & fagaams
Aftmr=t fagr w77 91 1, 3, 6, 10, 15 9% fagaae fAfimrer 3 s =8, 1 § vaw@er
T Jaut AreeT fEw faga onier yog et & womfesr fomm)

Triangular Numbers| Representation Pattern
fsgrmara Aftmret YEaHE BHE
| . uft fogerara i = =
- 2¥3
3 .e E-'?ﬂf?ﬁmm='7=3
é x4
6 .o et fggamara ffir = =~ =6
- " 9 P
t.l 4%5
10 "o ﬁa‘rmﬁ'ﬁ:rw:_iﬂﬂ
RN = 2
o _ _ 5X6
15 g Rt fggemae Aftom = —— =I5

AT 1 fagaTarg W =9ar Aftpyr 92 T
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fagamara Afynret & Quagz AesT wawe WAt d&T @3 feww wigra a=t =t
fagwmare fftmr uzT g9 FEe Tt
; 3 X{n+1
n=t fagmas ffumr = u:—l
2.6.3 SFaT M wiest EnfraT Ues AftpHeT & E9AgeT (Representing Whole
Numbers by Squares and Rectangles)

g% yga Aftpyret SEar A wrfeat gwrer SaRTErAT AT Faett 98| fAe fa ast
wanfen T :

Faar " ECiry wfegTaTg HitpHT UTaHE
| : ; T
i 1o 8 S ¢
9 o 10 secsoe
aas & & » B @
I HOaT § Yar 99|
Hfem/farest CLM mifeg =Jar fgaw
2 at a1 &dt &4t
3 ar 5l &at ar
4 Tt gt ar &t
5 ar Bat &dt a4t
6
7
8
9
10
1l
12
13

2.9 F};fﬁ'ﬂﬂf € YU (Patterns Observations)
sHfen € Uue, faferre’ & now g95 &t gorst nofesr a9 rae o ga0s femer
frus yg=g wiows gear u=ar| 3o feiar o »ifois &e
(@ 23749 = 237+10-1= 247-1 = 246

by 237-9 = 237-10+1= 227+ 1| = 228
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(¢) 237 +99= 237+ 100 -1= 337-1 = 336

() 237-99= 237-100+1=137+1 = 138

ot feg sHaT 398 9, 99, 999 ... sdartt A=t S 59 7 wes Y ree gger 7

fea féa 99 &yaT T

(@ 84x9 = B4x(10-1) =7

(b) B4x99 = 84x(l00-1) =7

(¢) 84 x990 = 84 x(1000-1)=?

&t 37§ few syer, Afumret 9, 99, 999, ... &% fam Ju Aftdr & g7 a9 = Ay
oar AETEET 97

wfAd AY 247 (Shortcut) g G951 FE'S 96 Wl 58759 95 |

Jat f8ar Uiegs 5 77 25 7 125 &% g g9a & Ida (B = gy féer 3

0 _ 90

(a) 96x5 = 96 Xo = 5 = 480
: 100 9600
() 926%25 = 9x—= —— = 2400
4 4
1000 96000
() 96 x 125 = 96x = = 12000

WGP | 2.3

1. ¥E9 € ugE wfiret @ greses fAeg O 3 &t vt afo raw of fa St f& féa
At 82 faeg o9 Quwest Afoz g

Had € Uds Afini=t o7 gieaes 1 3, &t vt gfo ree of fa Gost S0t =9 1 #f
&= 1 J=31| Quwest nfozg van @)

3. d5 @3 aya & =W w2 wal mes 39|

b

Ix1 = 1
1111 = 121
111111 = 12321

1111x1111 =

111111111
4. BYS T YYE 7 AT YA gr=F 39

I

Ix9 +1 = 10
12x9 +2 = 110
1239 +3 = 1110

1234 x 9  +4 = 11110

2345 %9 435 = csannee
234569 +6 = ..



10.

. Afewr=t 24 3 30 37 I Bt & wpfegrare, =@ar W fggmae sufent wiema

| = Ixl=1

143 = 2x2=4

1+345 = 3x3=9

1434547 = 4x4=16

Tue o3 ayad = mfwis a9 w3
(a) ufostt 12 2ig Afuwr=t o 755 U3 991
(b) ufgsEt™ 50 g Aftmre’ o §38% U3 841

2
o Go-leasul yus o

. AF T &1 yas Afepnr T

[ o®]

(@ 0 b) 1 (c) (d) 3

| AT T &4 wigsa A 7 -

() 0O (by 1 (© 2 (d 3
38899 T WEIIT T :
(a) 39000 (b) 38900 (¢} 39900 (d) 38800

. 24100 = fugsg o :

() 24999 (b) 24009 (c) 24199 (d) 24099

. THE 443 = 3+4 TANGET T :

(a) ¥ T= (by AfggasT a=
() #F gy Tiedr g (d) FSAHE T

. J5 fafmt fed fagar azvava IIANT (Additive Identity) 7

fay 0O b) 1 cy 2 (dy 3

. 75 fafeut 9 faga = =ava I3AHT (Multiplicative Identity) & 7

@ o0 b 1 (c) 2 (d) 3

15% 32+ 15 x 68 =

() 1400 ) 1600 € 1700 () 1500

13 &% =T 7'E T8 4 wigt & T T ST AfeT T -

(a) 9997 (b) 9999 (¢) 9995  (d) 9991

fas wigt & €51 3 <31 A o wEET T ¢

(@) 100 by 998 (cy 1001 (d) 1000
46



L)

% Bru= 2 wlog=wd %

» UFE A=t § A 3w 3 wewee/fegfuz a9 € et 96|
o uTE ffierret T i Sur O v 5B widafeaa faferet ags @ G 75|
o Uds fAftmiret it Su-<y ferimgr=t/get &t =93 g9aT fiv o as|

o €3 o yos Afrer © Y-y frfest oy s=@e fiy o O

)

. @ 0 (h) 1 () 1 (d) fis= &9t (e) 9= &t

2. a F (b) T (¢)F ()T (e} F
® T (@ F (h) T (i) F (M F
k) T (hF

3 (@) 100910 () 4631000  (c) 830002  (d) 100000

4. (a) 999 (h) 208089 (c) 7654320 (d) 12575

6. 20

8. (@) < (h) = (el < {d) = {e) <
n =

mfenim 2.2

1. (a) 1408 (h) 4600

2. (a) 149700  (b) 26300 () 163000
(d) 385200 (e) 51300 (f) 1000000
(g) 61842000  (h) 1932000 (i) 1092400

3 (a) 6490 (b) 632400 (c) 298600
(d) 600100

4. (a) 4930 (b) 2457900 (¢} 19225000
(d) 3297000

5 (a) 76014 (b) 87108 (c) 260064
(d) 68448 () 607920 (f) 1245616

h. = 7020

7. = 3500

9. @ 0 (b) 15 (@15 (&) ufegfaz &t (&) 0
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11.

!J'I

h.

M 15 (g)0 (hy 15 (1) 15 (1

@ +—(c)
(i) e (a)
@ — (b)
mffemmT 2.3
1111 x 1111 = 1234321
11111 x 11111 = 123454321
12345 x 9 + 5 = 111110
123456 % 9 +6 = 1111110
28
(@ 12x12=144 (b) 50 x 50 = 2500
gy-feamut yrs

@ 2.(b) 3@ 4. (d) 5. (€)
(@) 7.(b)  8.(d) 9. (a) 10. (d)



